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Exercisel
Write algorithms that allow you to:

1) reads an integer X then displays whether it istp@sor negative.
2) reads an integer X then displays whether it istp@sor negative or zero.

Exercise 2
Consider the following algorithm:

Al gori t hnexer ci se2

a, b, c, dinteger ;

Begi n

Read (a, b,c, d);

If(a > 0)then

a—atl ; b-bta; c—ctb; d dtc ;

el se Give the output values of variablas

1 f(b > 0)then b, ¢ and d in the case of the
a—-a;Ccec-cC: following input values:

End if; 1) (a=1, b=1, c=1, d=1)

I f(c >0)then 2) (a=-1, b=-1, c=1, d=1)

a— at3; b « bt+3; ¢ « ct3; d « d+3; 3) (a=-1, b=1, c=-1, d=1)

el se 4) (a=-1, b=1, c=1, d=1)

1f(d > 0)then 5) (a=-1, b=1, c=1, d=-1).
a—atd ; b-btd ; ¢ «ctd; d— dt+4;

End if;

If(a > 0)then

a <« atl0; b « bt10; ¢ « c+10; d « d+10;
BEnd if;

BEnd if;

End if;

Wite (a,b,c,d);

END.

Exercise 3

Write an algorithm that reads three varialdeb andc then displays these three variables (values) in
ascending order.



Exercise4
Write an algorithm that asks the user for the ayeraf a student's Algebral, Analysisl and
Algorithmicmodules. Then calculates and displaysttital credit of the fundamental unit composed
of its three modules. Knowing that :

» The credit of Algebralmodule is 5, and of Analyss® and of Algorithmic is 6.

» The coefficient of Algebral moduleis 2, and of Arsag1 is 4, and of Algorithmic is 4.

» The credit of the fundamental unit is 17 if its eage is>10, otherwise it is the sum of the

credits of the moduleswhich have an averat@ (in this case, the credit of a moduleis O if its

average is <10).
Noticed : The unit average is calculated from the coeffigarid averages of the modules.
Exercise5

Write a calculator algorithm allowing the readinfgadfirst integer A, the operation (+ or — or *Qr

and the second integer B, then displays the result.

Example:

Enter thefirst integer:
—— 4

Givethe operation:

+

Enter the second integer:

12

The sum of 4 and 12 isequal to:
16




